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Questionl.

Read the passage below and answer the questions. -

EREDBRLE, ERTEE A,

Question 1-1 -

[Sour_c_e: Stephen Jay Gould, The Panda’s Thumb 1980] -

;Engﬁsh_. “1¥/(4 

Choose the most appropriate word from the four choices.
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Question 2 |
Read the passage below and answer the questions. '

EEORBEL, ERCEECA,

' [Source: Bulletin World Health Organization 2018;96:292-294 | Perspectives ]



Question2-1.

Read the paragraph above and choose the most appropriate word or

paragraph from the four choices for each blank ‘Write the correspondmg -

letter (a-d) on your answer sheet.

(1) a. potential'_' b.
" (2) a. emerging - b.

(8) a. used to

4) a. well

(5) a. population
(6) a. population

(8) a. Waterfowl
- (9) a. Waterfowl

(10) a. Waterfowl

s

Read the “Definition
the “Term” and the “

- Te_rmf (i) .

b

b

b

b

(7) a. population b.
1 b

b

b.

potentially ' c. potentiality - d. botent

emergence c. emerged - d. emerge

. used . cousedfor d. used in
. enough c. well enough d. not well enough -
. wildlife habitat c. travel and trade d. communication

- wildlife habitat c. travel and trade d. communication

wildlife habitat c. ti*_ax_fel 'a_xid-'_t_r:ade' d: communication

chimpanzees . human ~  * d.bats

.chimpanzees  c.human  d.bats

chiﬁtiijéhizeee. ¢ human . d. bats

” below and choose the most appropriate combination for

Example”.

.Deﬁmtlon Permanent reductlon to zero of the WOI‘ldWlde mc1dence of..:_

infection caused by a Spe01ﬁc agent as a. result of dehberate efforts;

mterventlon measures are no longer needed

Example: (ii ), 

1: Eradication -

a
~b. 1t Eradication :

- ¢. it Elimination -

d. i:Elimination

ii: Smallpox
it Measles
© i’ Smallpox

CjiMeagles
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Qusetion3-1

Read the passage and graphs below and choose the most appropriate Word or phrase from the four |

choices for each blank. Write the corresponding le_tt__er (a-d) on your answer sheet.

EFEDEBRL, RRTELEA

._ [Source: The toplO __c':_aﬁ:_s_cs: of death ;'.'__.W_'Qri_.d '_Heéltlj;- _Orgéni._z.éti_g.r;’s. Eéc_t- sheets]

(D) ddme i b fer L c.dueto  dbasedon
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Question 3-2

Answer Yes if the statement is true according to the passage and graphs. Answer No if it is not.

(1) HIV/AIDS is no longer among the world’s top 10 causes of death in 2016 compared with 1.5
million in 2000.

(2) Cause-of-death statistics help health authorities predict the ranking 20 years later.

(3) The death rate from road injury is more than 1.0 million deaths in both 2016 and 2000.
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Question 4

Read the passage below and answer the questions.

ZFEDRFRL, RRTEEEA

~ [Source: h’r_tp://_keiboky_o_._com_/v_yp-.gontent/uploads/ZOZ0/_0_6/apr__2020__edq.pdf] _

Question 4-1

Choose the most. appropnate word from- the four ch01ces for each blank

| (1) A. loosing - B. loose - ';' o C Ioosely D loosed i S
(2) A. occurs - B.oceur . C. occurrmg D occurred
@Acof B Ci . Do P
©Ato  Bowith Cfor  Diof

(5) A. exhibit  B.exhibiting C. exhibited D. eXhlblthIl |



Qﬁestion 4-2

What is the main function of epiglottis? Write your answer on the sheet in English. '_

Question 4-3 . |
Underline: What are the clinigal signs observed iﬁ_hors_e_s developing the epiglottic entrapment? Write two of

them on your answer in English. . -





